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Q.P. Code : 34130
Duration: 2 1/2 hours Max marks: 75
NOTE: i All questions are compulsory.
i Figures to the right indicate full marks.
{ii.Draw neat and clean diagram wherever necessary.
Q1 Match the Column (Any §)
1) - [ﬂhcritc_d business a. Aid-to-trade
2) | -Banking b.Internal environment
) o —C.cln—operative organization ¢. External micro environment
4) B Vision, mission d.1969
5) I __“_DI;_tribumrs e.Capitalism
6} (- Demographics . Joint Hindu Family
7 | MRTP Act g External macro environment
§) | Lesser government regtflation h.Rendering service
9y | Private Ownership i. Liberalisation
10y | Dominant One party system j. Cuba
b State whether the following statements are true or false (Any 7)
1) DPolitical uncertainty & economic prosperity go together
2)  Corporate social responsibility makes social groups satisfied
3)  GATT was replaced by WTO
4)  MNC’s create brain drain in the host countries
P 5)  CSR propagates unfair trade practices
| . 6)  lonesty & [ntegrity have an impact of business

7)  Social audit determines social performance
¢)  Cullural factors have no impact on business
9)  According to Michael Porter competition in an industry is influenced by two factors.
10) The banking sector has emerged as a sunrise sector in the Indian economy.
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Q.P. Code : 34130

Explain in brief various components of business environment,

OR

Discuss in detail the nature of business,

Write a detailed note on Socialism.

Liscuss in detail the political institutions in India

“Joint sector helps in the growth of economy”. Explain,

OR
audit? Explain its importance for business.

basic factors influencing corporate governance,

What is social
Whal are the

Explain the impact of technology on business,

Discuss competitive strategies that firms usually apply to stay mhLigmegs

OR

Evalvate Direct and Indirect Exporting as a too] to enter foreign market.
Describe briefly the objectives and functions of WTQ ' |

Discuss the various dangers of MNCs to developing':m&j,;;
Explain the functions of FDI in developing countries, :

OR
Write short notes on any 3:
Types of Industry
Joint Hindu Family Business
Socio Cultural Environment
CSR
Investment opportunity in service Industry
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Note: 1) All Questions are compulsory. . Al
2) Figure to the right indicates full marks. ROt g
48 A R
1A Choose the correct alternatives (any eight) : () S o
® means integrating the national economy with tha world ad'nnnm}'-.' . N T
(Globalisztion, Privatisation. Socialisation) £ : Pof Haks
i = “:‘T \-_‘ d .
(i) farming is undertaken by lmge fiems either ‘b;; buymg the lnncl
ortaking land on lease basis. _ _. B PR
(Corporate, Contract, Mutual) '

Gi)) Himnan Rights have
(Social, Political, Umversa])

av)

™)

Q“ \\_\

P =
orghm““smsfand their environment.




(i)
@iv)
)

(vi)
(vii)
(viif)
(ix)
(x)

2. Discuss the concept of privatisation. F
privatisation.

[ ' o

The UDHR consists of 28 articles. s, o for
Writ can be issued only by Supremé elerments in
Abiotic components are non-living compound and physiéal
environment. _ 1 &
Atmosphere regulates the global temperature. £ f
Environmental factors are only factor causing stress- - S
Maslow’s theory is on Human Motivation. o B T
Meditation is an effective method of relieving stress. B o 5

OR

3. Discuss the civil, political and econiomic sights under UDHR... o ©
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Please check whether you have got the right guesfion papet, J

1. All questions are compulsory subjeet 14 itérnal eholes,
2. All questions carry equal marks, £ :

N.B:

S F

Q1 (A) Fill in the blanks choosing the correct mmﬂVM w’?j lof  Fl
1. Management is a -

science, .
{a) physical (b) social , &) pure
2. skills refers to the ability of a manager to interact with his
subordinates. / ¢ ;
(a) technical (b) congéptual .~ ~ 7 L fe) uman.
3. is known as the father of scientific management, :
(a) F W Taylor (b) Henry Fayol /.’ {c) Peter Drucker

g

3 -
x

Y mbines traits of all types of leaders.
ces people to achieve their objectives.
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2(A) Is management an art? [llustrate your answer. " ; : f
SZ}B; Explain any seven principles of management given by Henry Pu}u{.
J
OoR ;
v . "
Q2(C) Explain the managerial grid theary. I
Q2(D) What are the levels of management? Explain the functions of each [eye
()
Q3(A) Outline the main advantages of planning. ff_ij
Q3(B) Briefly explain the concept of MBO, : (7)
OR
Q3(C) Explain the importance of decision making, (#)
Q3(D) Describe any four techniques of decision making, . (7)
Q4(A) Discuss the merits and demarjts QI’ informal orga.qiﬁﬁ,uﬂn. %)
Q4(B) Bring out the meorLance (of :;lepaﬂmﬂnmnmq, ..; . _ (7]
AR S ;
Q4(C) Distinguish between cﬂﬂ‘-‘fﬂhﬁﬂiiﬁﬂ ‘and dﬁcﬂntraﬂﬂﬂﬁen. (8)
Q4(D) Explain the prmcxplea f ﬁffeshm ﬁﬂﬂgﬁuoq carr auﬁhm-fgf i (7)
Q5(A) Discuss the need fp;’ grf;eg mginﬁggmam g ‘, ' :- > : (8)
Q5(B) What are the qg:ka,liticﬂ p{’ a gded Iémlgr _" B )
Q5. Write Short Nﬁtﬂl on:’ [Any 3{ ';, ',3 s ":,';';'- (16)
(a) POSDCORE ~ o o Y
(b) Factors a.fﬁer:tiag apﬂn, 0’1‘ cnmml 5 AL A
(c) Co-ordination’ . W D e
(d) Corporate Social Rﬁﬂpﬂﬂﬁfbiuty ARG .. 4
(e} Pragesa o,f dﬂeﬁt{on bt
J")- ® 5
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Duration: 2% hours

Total Marks: 75
N. B. 1) All questions are compulsory.
Q. L. A. Fillin the blanks with suitable options. (Any Eight)

1) A/An

: (085
provides written intimation about the date, time and venue of
a business meeting.

(Notice / Resolution / Agenda)
2) A Structured Interview is ............

(pre — planned / unplanned / planned on the spot)

5 are based on the findings of a Business Repori.
(Recommendations / Terms of Referencé-f Smnmary)'

4 The primary objective qfa.fa:-ti L veeieeen. .. lnterview is te select the best
candidate for the job ESelection I-E%i{ *"A.ppra;isal)_

3) Conferences pmvlde a valuable basg o si-Sh i
(Semmarstommlttecs!Sympos;a} &

6) Business meetmgs have afan .-..: agenda. e
(mdeﬁmte / dynami ic 1 ﬁxed) -

7 A Group- Lnte:vmw is similar tba (Gmup Discussion / Panel
Interview / Structured Intcw&ew} :

8) Suggestion Schemes are an  example c:-f ........ -... Communication.
(Upward / Downward / Zigzag)

9y

'Cﬁtalogue Ptice-llst and Product Literature are sent by a seller in response i 2

Letter of .. (Order! Complamt! Inquiry)
A0y e A confen:cncc shuuld BE. - st it (need based / choice based / quality based)
Q. 1. B Match the fﬂlluwmg (Any Sevcn) '_ (07)
1) ‘Motion g a) Vote of Thanks
2% = Conference =~ b) Review of Performance
; 3) Promote Sales <) Open House
4)  Last Item in the Agenda d) Qutgoing Employee
A e Sj < Exit Interview e) Give Latest Developments
\ i1 6 Bulletins f) Proposal _
g ' '.?) Appraisal Interview g) Exchange of Views
. | '8) - Skype h) Discounts
> 85~ ' Group Communication i) Group Discussion
T o w) - External PR i) Video Chat

BA2FADSBCD33AT99ABIAAS0I9E42ES0
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Q.2

Q.3

A.
B.

C.
D.

A,

B.

&

D.

A.

By

‘ .;;_;-r__e,,;:

8 _addressed o the~Cmnsumer Redressal

2 'Drﬂﬂ. aii ‘RTI-_qu;'ttEF seeking information re

Q- o Cﬂﬁla; lzh,a

himself for a Job Interview? o)

a candidate prepare
;e ist be considered to organize

List and explain the factors that mt

a successful conference.

(08)
OR

What is a Grievance Interview? Why Shoum_it-‘be c_on;{uctgﬁ. o)
Define Public Relations. List and explain any {ive Lty ko '
promote the external Public Relations oj‘ar;.orgal_l'lZﬂﬂﬁﬂ-' 08)

An educational institution requires one: hlmdfﬂd and ﬁﬂ}’ desks :

for its classrooms, Draft a Letter of Inqulry atldrassed to Famous Furniture
Mart asking for a price-list and catalogue Use: tha Compiete Block
layout. : X o5 = o (O
Mr. Gupta bought two dozen frmt drmk cans frﬁm Super Bazm .t

On checking the cans at home Mr. Gupta re:allzed that the cans &

sold to him were 20, days past thelr expiry date. Draﬁ a Létte.r Qf‘
Complaint on his bahalf Use the, Modrf' ed B]ack Iayaut St 2 08)
Draft an Invcstlgatlva Reportx wuh recommendatmns abaut the
unhygienic: condumns in the cantecn nf ander Works Pvt 1td,

Chembur, Mumbm BRI (10)
Draft the Notice and Agenda f‘qr "the Annual Gencraj Meetma of
Phocmx Computers Worh Mum bm e S ©5)

e

Draﬂ a Sales Letter to promotﬁ a Vedlc Maths .gn.ld Abacus Center’
Use the Semi Block. }aynut : : ) -
Amrlt Lal had paid hlstelephone bill in time, Yet his telephone Ime( )
was’ d]SQDﬂHQCtEd on charges of non-payment, This has happened

 for the third consecutive mogth, Praft a letter on his bek alfp e

Forum seeking Compensation

* for the harassment and Jmmadlate restoration of the connectio
n.

Use the Cempletc Bleck laygut
S L OR o

- driving licerise that has 1ot been processed In spite of hay
Drwmg Test and havmg submitted the requi Ing passed the

‘months ago.



D.

4

: Ay
SCEE
_;;: 2 ﬁppral‘sal ‘.lntprview

F Ly

ot YT _-Jr_{unqtiona of the Public Relations Department of an Organization B,

Summarize the following passage: : _(08)
The educational philosophy of Swami Vivekananda is a. hatmornious
synthesis between the ancient Indian ideals and moderﬁ Westem behafs, L
He not only stressed upon the physical, mental meral s;mjtual ﬂn-;l Vocatmnal-

development of the child, but also advaeated \{mmen-' edu-:;atlon, as well as

education of the masses. The eSS-‘E:]'ltlal charafcwrxsnos c-f the educatrorfal
philosophy of Swami Vivekananda. are 1dﬁallsm, naturairsm aﬁd pragmatlsm :
From a naturalist view point, he emp]::asizqd that, real“pdu;:atlmj-is, pdsai‘ule cmly =2
through nature and natural propenmt]as Fr@m *an 1de§1hs1‘ i?lefw pomt ‘"he mmste&’

that the aim of education. was. 1o {leve‘lop the: chlld Wah moral and.~ sgpnrﬁual
qualities. From a pragmatlst view pomt he emphasme;i ”t]-:a neé"d»fdr Westem
education of technol(bgy, cnmmeme, mdustry -a,nd s&ience f@ achieve matcrlal
prosperity. In shert, ﬁrsi h’;‘:__." rrgphaswed splru.ual dé\&ﬁlﬂpment ‘then natural
propensity, aﬁ;er thqt saic’t}' -

e

c;f ‘lif fan&,.then ':“edv;n the, pr ob’lbms of food and

- ‘“\

clothing of thqmasses

(PRl

Swanu Vwekénanda cdﬁmdéréd ‘dvomsn'
nghﬂ?“ ;rmnted

cgunﬁ*y Thﬁ ﬂatrcm canr neve.r, moVa f‘on@rﬁ( L’I‘he important features of his

w ‘beJh&‘ 'mcarnatlon of power. He
rl:mt 1hat unless\{ndtan wOmesi secure a respectable place in this

sq’.he.me tbr fcmala @duﬁatlon are, Maka- wamen strong, fearless and conscious
of ihear phgsﬂ’uy‘ and &ngty H msmlcﬂ that men and women are equally

*-mrr{i;ﬁ;gent not ,onijf m the ﬁcademw matters, but also in other spheres of life.

_S‘w Yiye,}ca,nmndaxbemg a keen obse,war could distinguish the difference in

tgom about th,e stams qf‘ women in the West and in India. “The ideal
i _Ind'iq, ;,sua }ngther, a molher first, and & mother last” he deolared.

- (a
i

¥ £ 0
-.,J-r f i

: ' ;Wﬁt‘c‘z iﬁérm;)tes} (ﬁmy *i‘hfee) (15)

Mvaﬁtageanf Conferences
1@ of ar{}hait'pérson in a Business Meeting

Jii?i!:lgs;ﬂ(;ﬁ:ln13'|arenc-,mg

o g e e B
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Q.P. Code: 08061
[Time: ‘.?.% Hours) [ Marks:75]
Please check whether you have got the right question paper.
N.B: 1. Allguestions are compulsory.
5 State TRUE or FALSE - Answer (any 08) 8
1 Inpersonal selling, seller and buyer come in direct contact with one another
12 product research relates to manufacturing and marketing of the product
5 7erolevel channel of distribution has numerous middlemen.
4 Firms have better control on micro environment than macro.
5 Geographic segmentation includes variables such as region; cities and states.
6 Legislations are a part of Political environment.
| Government Policy is not a controllable marketing factor
L ! & Decline stage is the first stage in Product life 'fiy'aga- 2
i_ 'I g  skimming Pricing involves selling at law price initially g
_i rrl 10 Brand helps to identify ane pmtluc‘_ff_rﬁni the other. 5 5 _. =
| ; z e o
: I'? B Match the fallowing - answer {any 07) .' S o 7
& ra} R oo | ) FaceBook
4 by Irregular Demand = : i) Psychological Factors
¥ ‘- ] PEST S iii] Production Concept
i dj Loga 3 v} Promation |
' I. e'f'l-'l'_l.];:.us.gﬁ un'uaji.'m'.re.nf Prod-.n:"mﬁn LS .ﬂ_Custnmer Satisfaction
3 .{ ﬂ.lcﬁ'm' ; : Fa T i) Environmental Scanning
“| = ,m-.tu;;.g oo \ vii) Place Mix
f h) Cou'pﬂ.r;s'-'&_ﬁéﬁte \ viii) Reference Groups F
15} Social Media Marketng l ix) Brand
) Distribution Channel e \ X} Seasonal Demand
a2 What doyou mean by marlg:efl’n_g?;E‘.-cpiain the faatures of marketing 8
b Explain the 4 Cs ofma ﬁqet'in_g 7

S OR
o ﬁ!stuss.h&ﬂ- marketing has evolved from exchange process to holistic marketing.

SAzk Highlight the difference petween marketing and selling.




Elal Discuss the elements of macro environment of business.

b Explain thje“*fa‘c-tb rs affecting consumer behavior.
OR

p  Whatis M-'agti:t.etiihg- Information System (M I-S]i?fiEéc:ﬁI"a“tﬁ-'.ri§§§iﬁp.d'ﬁf§'hf¢'é' &
o d.‘,'.\ ] __.'."1.1"". i

Tty

q  Whatis consumer research? Explain the need fDi__r::_:r_:j

.~ Q.4 a Discussthelevels of a product

Explain the role and importance of packag




AP “ i ) Lo« QP Code: 31025
~ Duration: 2 % hrs | Marks: 75

Note: All questions are compulsory

Q.1. a. Fill in the blanks: (Any 8) > % (3)
1. The central government may constitute one or more ' ffibunal for the ad}ud lwﬁm of
industrial dispute involving questions of national 1mpt&1‘tance. Aty
2. Lay off compensation is to be paid @ of the average\Wages. :
3. Every registered Trade Union has a succeé:smn o
4. Artificial humidification is a provlsmn under tha faqtones act g 2
5. A workman under workmen’s compensatlon act {6 ot liable for compensﬁtmn, if at the time of

accident he was under influence of : :
6. __ Benefit is paid to the eldest surviving member of the f'amily of insured person under

the ES] Act.
7. The employees Provident Fund money is invested in __bonds.
8. Fine should not be imposed on any‘employee w’na is under the age of years.
9. In case of death of an employea\ﬁm g 15 entﬁ]ed 1o gaf the boﬁus due to the employee.
10. Employee in a seasonal estabhsh nt w”il pratuity.at the @ days wages for each
season. S

Q.1.b. True or False: (Any’ "L} S el F %)
1. Extraction of salt frnr;L _bawxat%ﬂﬁ @ f'ac’nqpy ¢
2. A police officer I8’ '-\w,oﬁ-:man undgr Indusm‘i’ o0 i
3. Closure me&n«:; Jte;g:ipm@;ﬂylelésmg ﬂawn :ﬁf the jﬂlac;et ﬁf -emp‘}oyment
4. Roleofa tmde mbr;ﬁmﬁqcuxe falrw;_g“esiq i"or WC-rkers
5. If there, ared 110 numbers ﬁfgmﬁqyees;fhmemployerhas to provide a canteen.
6. Partial msalsfemen;t eans’ wtferue ﬂisﬁblement is of. ahemanent nature,
7 Magﬁagg is'a precol d::ﬁem for ma'sai'mty“’een“eﬁt '
8. Th&prowﬂent\Fund ¢o ﬁmbutgonw a% of wages is 12% of salary.
9-{-'.‘-': agcs‘ﬂw:s gmt mﬂludﬂmﬁy\benus ﬁaygh]&u.nder the terms of employment.
__I..,‘lﬁ Sp!tﬁ'hﬁ Eiuiﬁl‘de Spittuimﬁ is of’f‘enhe pum‘shable with fine up to rs,5/-,
"(

Tl ,,.E

= N

&1 «t]:ia a?lffcmnce 'bbrq.fepn In{imdyai DlSpl.ltB and Industrial Dispute under IDA. @)

,b; M-lgf g jhe gﬂrpag.é,s\‘f’arwhfch gaﬂeral fund of a registered trade union can be spent? (8)
- ! : OR

Bfmgoquﬁﬁmnw 'pétwwn strl ke and lockout. . (8)

_ s—aud rn'],e of trade union? e

J i

\: ,"“ma‘w,ﬁfexgﬁbﬂefﬁn‘ m‘!cs éfmgdlcal examination of Workmen under workmen's compengation
'5‘ (i n t
L 3 U a. E r r

) Explw!n ‘ﬁhc prowsmm of health under Factories act.

i S OR

a1 h between Partial and total Disablement .
i Ef[ﬁ;j’gqfqm th:r term Worker and Manufaqtuﬂq g progess under Fﬁﬂlmﬂ act,

12



Q4.2 Summarise the different types of Benefit under the ESI Act.
umhmummbmm

mmhmawmﬁ-‘ﬁq
twuh&wdhm*b :

Q.5.5hort Notes (Any 3)
2. AWARD
b. Calculation of gratuity and
<. WMM
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Q.P. Code :31979

[Time: 22 > Hours] _ IM’“ ks:75)
Please check Whether you haye got the right qucstiun paper. g i & .
N.B: 1. All questions are compulsory Al e i
2. InQ.1 attempt both the sub-parts A&B, . BVt R a8 g’ e
3. Figures to the right indicate marks, .- o g AN SO LR S
4. Use of non-programmable calculator s z_ylfh‘,_\fé@l-t'.":_=' et A Bt ook
Attempt both subparts A& B: é A e Sy EL A

(A) Write the appropriate answer (Any Eight):

I. Given, Principal = Rs.1500, Number
Interest will be: SR

i 3 %pa
ii. 4 %pa
iii. 5 %pa
iv. 6 %pa

3, Thenambgf_,._ .‘i’a’f TR
three boys. s are together are:
. e )3-| 134{.‘-' S

F mlg‘i:rsmuluﬁt‘imﬂ@n the number of Columns of first matrix should be
Qe THalEL el 5

numi’bmr,otroows»‘ﬂﬁﬁ‘:@qﬁnd Matrix:

e

Page 1 of 4
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7.

i

WHowatfian otvniasd

%

The determinant value, of a 2x2 matrix, and ts transpose are .. : -J,_"
i the same -
ii. never the same B _' \ ¢ -
ili. 2 Dimensional T 7 ;o
iv. 3 Dimensional PR ¢ X F

'». o - y : . .'. "
The derivative of x? log x : *’?
i x*log x %0 T 3 v o oy

il 1+ 2 logx ¥ R -_ 5. ‘:-:‘r\.‘s— e
iii.  2logx g e e A
iv. None of the above . -5 .‘_-_ P ¢ S

The extra revenue that an additmng] nliit ufa?pmdm , ' i
i Conditional Revenue -
ii.  Marginal Revenue .

iii.  Elastic Revenue . .
iv.  Average Revenue =~ -

¥[8 [ Folt ALvihien:

s

difference operator | g) | Neithor maxima nor
Revenue h) | Type of annuity that

; s v
— _ o e
- i = e
- f._ _'.I
> S5 5

| s ,?
d‘;ﬁm 131979 A !, '

O

S0 A

aam |
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(AP Code 31979
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Wi ot semie Toney B 8 cerizen rate of smgle wisrent por s The vl wmoyets
rr_t(?w:r}r v e werw B4 7606 4 2 vesey and By 7948 8 m 4 yeary respecSively Fined thee
prmcipad and The rase of semple wterent ' :

A rmametacirer b wvested B ¥ 0000 25 fived coul and 3 variable cont of Ps 20 per andl L L
i A vvs 1f each ey L be wAd o8 Ry &) fimd the Cont fumtion, Revesye Penction wd
Brta Fumatsom Al find fhe nuember of Wy to he produced 1 mhieee the Bresk Event polet

OF
Fesd the snowrr 2 e end of one year of an saomty of Ra 500 peysbie querterly, rate of interewt 88
g 16% 5.2

. Tre 22 of 3 deparument umnﬂgrﬂaw,ntﬂmnd 1) cleris A commines of 4 to be 07

wiccied from this depariment Fmdﬂ:mufummﬂﬂﬂm:-hanm-mmm
i the Wisnager

i the Manager but not the offices.
(i) Find matrmx X ifs
Y:ﬁ i]mﬂﬂ‘f“_lg g
(i) Find matrices X =ad ¥ if
X+ Y = ’:]-ndx.s'-[z g] .

w:mmwmw'm

;vy+z—?=ﬂ
I*Zy+3.‘£—'16=ﬂ'
g3y ¥4z—22=9




Q.P. CocTe‘ 31919

2 total cost of Rs. (70 + 2X). The dﬂmﬂfd ﬁln;tw;r is,P-,:[[j&,xl “Q
demand. Find the value of x for whmh : S

Q4 A A company produces X items at
where P is the price and x is the
1. Total Revenue is increasing ctfer. bt S

ii. Total Profit is increasing.

p‘ “f-—'\,“l:'.: _ll-. : r'. I- -'. ,_ .
B Applying Newton’s Backward Interpolation Formula, ub,‘:am a p@[}aﬁomiabfuq@;méﬁﬁ?ﬂ%__?: (o
LR S S

following data: e
| X 30 |35 |40 |45 _.,.1:_._.
y=fx) |38 |30 |24 |20 e
,E)R.j.
e )
)

P Using derivatives, divide 30 into two parts s0 tha; thmr»pradﬁcﬂ&’;sraxmmm i
_ A farmer noted the following figure for the gﬁaﬁt&tyﬂeﬁffemhzgr gmjag_p
and the vield (in kg) of wheat from the plt)‘s. e S

Fertilizer (kg) |2 [3:014 .5"-_-:-___* 5
Yield (kg) EE e e

Applying Newton’s Forward lntcrggjafmrﬂiumula, detemm “*tﬁaﬁg mum ameunt of fertilizer

for the plot and the maximum yjelﬂ ex:p-ec.{edv‘ B Lo *c.'-' R e '

_-

Qs A) A manufacturer can{sejl m;em'wg_ i at,a pﬁce(p"—'iﬁﬂpﬁx
given by C=2x + 1’2[)9 ‘Fmﬂ—the gexggmgg rd:ﬁtﬁjtﬁttha margin
B) Ms. Agarwal h‘ﬁgtaf -,af[ﬁoh 07,
amount is ’q;- bpm’rumeﬂ;imﬁ
ﬁ'b
|
15 )

AR P-:I?I‘:es af detennmant
T ot Oﬂ*@me ETaﬁﬁmty of Demand, -
nessaMafhematws in Mﬂna, ,

17



Q.P. CocTe‘ 31919

2 total cost of Rs. (70 + 2X). The dﬂmﬂfd ﬁln;tw;r is,P-,:[[j&,xl “Q
demand. Find the value of x for whmh : S

Q4 A A company produces X items at
where P is the price and x is the
1. Total Revenue is increasing ctfer. bt S

ii. Total Profit is increasing.

p‘ “f-—'\,“l:'.: _ll-. : r'. I- -'. ,_ .
B Applying Newton’s Backward Interpolation Formula, ub,‘:am a p@[}aﬁomiabfuq@;méﬁﬁ?ﬂ%__?: (o
LR S S

following data: e
| X 30 |35 |40 |45 _.,.1:_._.
y=fx) |38 |30 |24 |20 e
,E)R.j.
e )
)

P Using derivatives, divide 30 into two parts s0 tha; thmr»pradﬁcﬂ&’;sraxmmm i
_ A farmer noted the following figure for the gﬁaﬁt&tyﬂeﬁffemhzgr gmjag_p
and the vield (in kg) of wheat from the plt)‘s. e S

Fertilizer (kg) |2 [3:014 .5"-_-:-___* 5
Yield (kg) EE e e

Applying Newton’s Forward lntcrggjafmrﬂiumula, detemm “*tﬁaﬁg mum ameunt of fertilizer

for the plot and the maximum yjelﬂ ex:p-ec.{edv‘ B Lo *c.'-' R e '

_-

Qs A) A manufacturer can{sejl m;em'wg_ i at,a pﬁce(p"—'iﬁﬂpﬁx
given by C=2x + 1’2[)9 ‘Fmﬂ—the gexggmgg rd:ﬁtﬁjtﬁttha margin
B) Ms. Agarwal h‘ﬁgtaf -,af[ﬁoh 07,
amount is ’q;- bpm’rumeﬂ;imﬁ
ﬁ'b
|
15 )
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